XA E3mLL E o A= R60ecm L E3mAT  AKA=HE 5 60cm AT

E # & B % & %
No.10 FIEE#HIBE
= | oo + B S=
WER | BRCR | ZRER Tk T wk | BA | 53 (38 2E|REER
(X) (&) (X)) [AZH(m) | Fm)* |[BE (M)
16,699.06 60| 6,679.62 102 128 2| 41900 | 493.60 | 1,823.40
*1 BAKXREE
BAR-PAR-ER (KH)
BitE =K EaN BEXR [ BF(K) s &
AXIY 1 1
DJAE = 1 1
N HFAEF 22 22
HOHFEF 17 17
HHh 24 24
Hoadoa 2 2
ThY 1 1 2
rRS 2 2
O—X<!)— 1 1
RRAIEF 1 3 4
EA4SF 1 1
<Y 2 2
DX AI 1 1
YIEE 6 3 9
Shy 1 1
JapEvsy 10 10
ToYA 1 1
AO/NESD 8 5 13
HIJLAANI) 1 1
YA ) 1 1 2
INFTEXF 7 7
VIR 6 6
4599 1 26 27
INT 4 4
IP5=) 1 2 3
7OI 1 2 3
HAIhA4T+x 55 55
EXSVYRE 10 10
&&t 102 128 2 232
FHE-ZE (@E M)
BitE R EXR 2% | &5H(m) " &
HIExIIY 3.00 80.00 83.00
EN 12.00 12.00
RZHFAEF 6.00 6.00
O—X<!)— 1.00 1.00
N 317.00 317.00
&&t 22.00 80.00 317.00 419.00




MKEA=REImLL . P A=EE60cmL F3mATE AR A= E60cmASiE

E # & B % & %
No.11 EFHBEEKREZHZEFAT
= | oo + B S=
Woem | TR | ZOER T T wk | B | 5HE |30 2E|REER
(X) (&) (X)) [AZH(m) | Fm)* |[BE (M)
21,198.63 60| 8,479.45 141 5 0] 2,517.30 | 3,929.60 | 3,942.30
*1 BAKXREE
BAR-PAR-ER (KH)
BitE =K EaN BERX | 85K s &
FUEGEA 19 19
ShY 29 29
RAZIEF 1 1
HILZT 1 1
X 1 1
v E 18 18
NFIXE 23 23
v 2 2
HXE 48 48
)5 2 2
FLUFYYD 2 2
&t 141 5 0 146
fE- 2% (EFE m)
(ELE LA EXR 2% | &5t(m) g =
I IID 95.50 | 1042.50 1138.00
AALSHFIvE|  143.00 143.00
Ko& Uy  326.00 326.00
RRAIEF 289.30 289.30
RZHFAEF 41.00 41.00
IYINYYD 8.00 8.00
N 40.00 40.00
I YY 144.00 144.00
Jary/es 388.00 388.00
&&t 902.80 | 1042.50 572.00 | 2517.30
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FiE- 24
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1.50
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14.10

14.10

FIEYYT
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32.00

78.00

FHLTHFIYY
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21.50
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MEAR=RE3mLL E FoA=RE60cmLl E3mAT A= E60cm A

*1 PRFIREIR




X AR=HE3mEL E OR=RR60cm L E3mAE ARAR=HS 5 60cm AT

E # & B % & %
No.13 #i~ BB EREEREFHA
= | oo + B S=
WER | BRCR | ZRER Tk T wk | BA | 53 (38 2E|REER
(X) (&) (X)) [AZH(m) | Fm)* |[BE (M)
24,439.98 60| 9,775.99 428 157 0| 3,594.30 | 5,346.30 | 8,345.30
*1 BAKXREE
BAR-PAR-ER (KH)
BitE =K EaN BERX | 85K s &
AXIY 12 11 23
i 5 5
T UINF 7 38 45
HR)¥x 17 17
DT AEF 2 2
HHh 3 11 14
AEA 45 3 48
rORXIEF 73 3 76
TTINA 147 11 158
YIEE 35 4 39
ARAYINE 4 2 6
HIJLAANI) 2 2
Y95 4 4
AT HHS 11 11
HAIHh4TF 64 69 133
4sawy 2 2
=it 428 157 0 585
FHE-Z%F (@E M)
Bitg R EXR 2% | &5t(m) S
TAN)F 134.10 134.10
AXIY 66.40 66.40
HIEIIY 97.00 84.50 181.50
Dyl A 42.00 42.00
) o<eyvys|  800.70 62.00 862.70
rORXIEF 71.40 71.40
YIEE 3.00 3.00
JEAE 42.00 4200 [ NZHFAEF IR
N 2191.20 | 2191.20
&&t 1256.60 14650 | 2191.20 | 3594.30




